
1) 8 x 1000

Answer: ____________

2) Solve 17s2 + 7s - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

3) Round 15.614225 to 5 decimal places.

Answer: ____________

4)
30  Find Volume of 
                         Pentagonal Pyramid 

25
25

Answer: ____________

5) Find area of 
rectangle having 
sides a = 828 in 
and b = 530 in

Answer: ____________

6) 10:38 am To 05:03 pm

Answer: ____________

7) 10:38 am To 05:03 pm

Answer: ____________

8) Round 20.11953 to 1 decimal places.

Answer: ____________

9) Find the range of the following set of data:

10, 0.3, -3, -0.2, 0.3, -8

Answer: ____________

10) Increase 83 by 55%

Answer: ____________

11) 663 + 321

Answer: ____________

12) Find the mode of the following set of data:

88, 88, 88, 88, 50, 50, 50, 71, 71, 
71, 71, 71, 93, 93, 34, 34, 99, 99

Answer: ____________

13) Find perimeter of 
square having each 
side (s) equals 668 ft

Answer: ____________

14) $120.68 earning 4% compound 
interest for 6 years.

Answer: ____________

15) (-50) x 16

Answer: ____________
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16) 603 x 300

Answer: ____________

17) 56% of 51

Answer: ____________

18)
25  Find Volume of Cone 

21

Answer: ____________

19) 3/91 of 273

Answer: ____________

20) 16/1 - 13/15

Answer: ____________

21) Increase 220 by 1/55

Answer: ____________

22) 'What is the probability of rolling a 
even prime number.when rolling a 
dice

Answer: ____________

23) 611 * 6-11

Answer: ____________

24)
29  Find Volume of 
                         Hexagonal Pyramid 

29
29

Answer: ____________

25) Find perimeter of 
rectangle having 
sides a = 997 in 
and b = 517 in

Answer: ____________

26) A number was shared in the ratio 
3:27. The smaller share was 24. 
What was the larger amount?

Answer: ____________

27) (-270) ÷ (-30)

Answer: ____________

28) 16.7 + 827.6

Answer: ____________

29) Find area of 
triangle s = 725 m

Answer: ____________

30) Simplify 22:14

Answer: ____________
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31) What would you multiply by to 
increase an amount by 44%?

Answer: ____________

32) Find area of square 
having each side (s)
equals 752 ft

Answer: ____________

33) (-209) ÷ 11

Answer: ____________

34) An amount was increased by 3.5% to 
$232.00. Find the original amount.

Answer: ____________

35) Find area of 
rectangle having 
sides a = 453 ft 
and b = 430 ft

Answer: ____________

36) 204/17 x 1517/18

Answer: ____________

37) Round 2.14379475 to the nearest 
whole number.

Answer: ____________

38) Solve 7q2 + 5q - 4 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

39) (142 x 9) x 112 x 12

Answer: ____________

40)
30  Find Volume of Cone 

29

Answer: ____________

41) (-40) x 19

Answer: ____________

42)
29  Find Volume of 
               29       Cylinder 

Answer: ____________

43)
23  Find Volume of 
                         Pentagonal Pyramid 

21
21

Answer: ____________

44) 165 ÷ 11

Answer: ____________

45) 388 + 901

Answer: ____________
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46) What would you multiply by to 
decrease an amount by 58%?

Answer: ____________

47) What would you multiply by to 
decrease an amount by 58%?

Answer: ____________

48) Decrease 58 by 77%

Answer: ____________

49) (6 x 47) - (5 x 68)

Answer: ____________

50) (-310) - (-928)

Answer: ____________

Total: ___ / 50
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Answers:

1) 8000
2) s = 0.6 
or -1

3) 15.61423 4) 10752.983753681 5) 438840in
6) 06 Hours 25 
Mins

7) 06 Hours 25 Mins

8) 20.1 9) 18 10) 128.65 11) 984 12) 71 13) 2672ft 14) $152.70

15) 16) 180900 17) 28.56 18) 2886.3382504856 19) 9 20) 152/15 21) 224

22) 1/6 23) 60 24) 21121.493572899 25) 3028in 26) 216 27) 9 28) 844.3

29) 227602.3014321m 30) 11 : 7 31) 1.44 32) 565504ft 33) -19 34) $224.15 35) 194790ft

36) 32298/153 37) 2 38) q = 0.5 or -1.2 39) 40) 6605.1985541725 41) 42) 76620.303228401

43) 5816.9340913913 44) 15 45) 1289 46) 0.42 47) 0.42 48) 13.34 49) -8299776

50) 618
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